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BH AR RAS [ 45]  40] | 5] 160] 690 s ’
5 BYZX
BB BR — [ a2 3] [ 85] 160] 690] 7
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3 R s | 43| 44| | 87| 150/ 720

BUSX
4 Y | 53] 53] [ 106] 330] 73.0]
ar BYSA

5 AT 4 | 47| 48] | 95| 220] 73.0]

BYSX

6 WA B85 | 49| 43 |  92] 18.0] 740

BY3A

7 & BEZ [ 43|  44] [ 87] 130] 740]

BYSR

8 mA A | 42|  46] | 88] 137] 743

BYZR
9 Es —# | 48]  50] [ 98] 21.3] 76.7]
BY3A
10 A0 %88 | 46| 45| [ 91| 140/ 770
BYSA
11 ILIE=FS [ 46 48] [ 94] 16.2] 77.8]
BYZR
12 # F= | 56]  51] [ 107] 280] 79.0]
BY3A
13 <% % [ 44  49] [ 93] 140] 79.0|
BUSX
14 ® Ma [ 44|  51] [ 95] 16.0] 79.0]
BUZR
15 =B BE | 54|  47] [ 101] 216] 794
BY3R
16 T B/ | 45] 49] [ 94] 140] 800
BY3A
17 AR F— | 47| 52| | 99] 19.0] 800
BYSR
18 a5 [ 42] 52] [ 94] 140] 80.0]
BYZR
19 WA ZE | 43] 52| | 95| 130] 820
BY3A
20 =i 5 | 53]  46] | 99| 16.0] 83.0]
BYSX
21 K BN | 55| 54 [ 109] 250 840
BUZR
22 =15 | 59| 48] | 107] 224] 846
BYSX
23 =5 &% | 51]  55] | 106] 21.0] 850]
BY3A
24 #HAR Bz | 63| 59 | 122] 36.0] 860
BYSR
25 FK RX | 58] 57 [ 115] 29.0] 86.0]
BUZR
26 ING BN [ 63] 60] | 123] 36.0] 87.0]
- BYSR
21 ipHt = [ 49  51] |_100] 130] 870]
BYSX
28 N Fz | 46]  52] [ 98] 11.0] 87.0]
- BYSA
29 MNHE | 49| 55] | 104] 150 89.0]
BYSX
30 INGR A | 59  62] [ 121] 240] 97.0]
BY3A
31 fEH EX | 61| 52 [ 113] 150/ 980
— BYSR
32 A ® | 61 59 [ 120] 17.0] 103.0]
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HOLE | 1|2|3|4|5|6|7|8]|9 10(11{12(13[14|{15]|16( 17|18 Total
PAR | 5|3|4|4|4|4|5|3|4)|36 (4|4(4(3[4(5|4]3|5| 36 | 72
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